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Folk deity Gogaji was contemporary of
which ruler ?

(1) Mehmud Ghazni
(2) Muhammad Ghori
(3) Iltutmish

(4) Alauddin Khalji

Who was the ruler of Mewar when
Meera left Chittor ?

(1) Arjun Singh
(3) Udai Singh

(2) Sangram Singh
(4) Vikramaditya

In which fort, Jauhar was not observed ?
(1) Jaigarh (2) Gagron
(3) Siwana (4) Jalore

In which painting style, the mark of
injury and chicken pox shown on the

faces of male figures ?

(1) Bundi (2) Mewar

(3) Alwar (4) Jaipur
Parbatsar fair is organised in memory
of which folk deity ?

(1) Tejaji (2) Pabuji

(3) Gogaji (4) Ramdevji
Which of the following is male
ornament ?

(1) Chhailkadi (2) Nevri

(3) Pot (4) Sari

‘Chhede’ is sung on which occasion ?
(1) Death of Infant (2) Pernoctation
(3) Bride Arrival (4) Crop Harvesting

From which place did princess Mumal
belong ?

(1) Kolayat
(3) Lodurva

(2) Arthuna
(4) Kelapani
01 (G.K.)
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A. Tieradl HIEHHT
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(3) i iv i i
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A B C D
(1) ii i i v
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@) i i i v
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Match List — I with List — II and select
the correct answer using code given

below :
List—1I
(River)
A. Godavari
B. Narmada
C. Krishna
D. Kaveri
Codes :
A B
(1) ii i
(2) i iv
(3) iii v
4) 1 iii

111

ii

i
ii.
iii.

iv.

List — II
(Tributary)
Ghataprabha
Amrawati
Manjira
Kolar

D
v
i
il

iv

Match the following and select the
correct answer from the codes given

below :

List -1

(Continents)

A. Australia

B. Antarctica

Bmmd {rica
D. Asia
Codes :

A B
(1) iii i
(2) iii iv
(3) iv il
(4) 1 i

il

iii.

v.

List —II
(Known as)
Dark Continent
Cradle of
Civilisation
Museum of
strange
vegetation and
animals

Laboratory of
the world

D
iv
ii
i

iv
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Among the following, which country
was having highest population in 2011 ?

(1) Brazil (2) Bangladesh

(3) Japan (4) Germany

Which is not a correct match ?

Ocean Marginal Sea

(1) South Pacific - Sulu Sea

(2) North Atlantic

Sargasso Sea

(3) Arctic — Kara Sea

(4) North Pacific Coral Sea

‘I'he connecting strait of Asia and North
America continent is

(1) Davis Strait
(2) Malacca Strait
(3) Bering Strait
(4) Gibralter Strait

In terms of area, which continent is
larger than Australia and smaller than
Antarctica ?

(1) South America (2) Europe
(3) North America (4) Africa
Among the following which is not a
centre of Cement Industry in Rajasthan ?
(1) Nimbaheda  (2) Modak '
(3) Gadhe Pan (4) Beawar

What was the cause of pollution in
Minamata Gulf ?

(1) Radioactive elements
(2) Oil
(3) Mercury
(4) Domestic waste water
01 (G.K)
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According to 2011 census, which
district of Rajasthan is having more
than 1000 sex-ratio in its rural
population ?
(1) Pali

(3) Nagaur

(2) Chittorgarh
(4) Jalore

Which is not a correct match ?

Livestock Breed
(1) Goat — Barbari
(2) Cattle — Nali
(3) Sheep — Jaismalmeri
(4) Buffalo — Bhadawari

From the following peaks of the Aravalli
mountains, which is highest peak ?

(1) Nahargarh (2) Sajjangarh
(3) Kumbhalgarh (4) Taragarh

Match List — I with List — IT and select
the correct answer using code given
below :

List—1 List — 11
(Tourist Place) (Location)
A. Chorasi i. Bikaner
Khambo-ki-
Chhatri
B. Daulat Bagh ii. Udaipur
C. Lalgarh iii. Ajmer
D. Jag Mandir iv. Bundi
Codes :
A B C D
(1) 11 v i ii
2) iv il i i
(3) iv i il i
(4) ii i i iv
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23.

Which of the following are
consequences of Globalisation in case
of Indian economy ?

A. New Trade and Industrial Policies
B. New Banking and Finance Policies
C. Labour Market Reforms

D. Fiscal Reforms

Codes :

(1) A,BandC

(2) A,CandD

(3) AandC

(4) A,B,CandD

Which of the following are

characteristics of jet stream ?

A. Prominent movement at 9-12 km
high altitude

B. Meandering bands of geo-strophic
winds

C. Irregular and shows seasonal shifts

D. Travels at speed of 300 to 400
metres/hour and affects Indian
monsoon.

Codes :

(D 'A,B&D
(2) A,B&C
) B.C&D
4 A,B,C&D

Who gave the thermal concept, based
on differential heating effect of the land
and the sea, for annual cycle of the
Indian monsoon ?

(1) E. Halley
(3) M.T.Yin

(2) Flohn
(4) Hadley
01 (G.K))
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fr=fafaa =i gafea Hifvd qen =
T %l H W IA B! A -
T -1 gt - 11
() (rarfeafe)

A. TeTae I i. geam
B. SOieRI-eE IEANT  ii. Tl
C. 9 I iii. forart
D. SHTHT 3N iv. TERTAT
P

A B C D
(1) 1 iii i v
2y i ii i iv
(3) i il i iv
4) i i i iv
frafafaa =1 gafea Hifvd aun f= fea

T el H H FE I b G
g -1 gt - 11
ARy - @)

A. tfaEtes wiea i R
B. &fifes wies ii. TOgER
C. UTehideh /Thid W iii. coraTer
D. QAT Wi iv. dTI-BIWR
% :

A B C D
1y i i i v
@) i iv il

(3) @i i i v

4 1w iv il
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Match the following and select the
correct answer from the codes given

below :
List—1
(Industry)

A. Cotton
textile
industry

B. Electronics
industry

C. Salt industry

List — 11
(Location)
i. Deedwana

ii. Gulabpura

iil. Bhiwadi

D. Marble industry iv. Makrana

Codes :

A B C
(1) 1 il i
2) i i il
(3) iii i 1
“4) 1u 1 iii

D
v
v
iv

v

Match the following and select the
correct answer from the codes given

below :
List—1I
(Nature of
Tourism)
A. Historical
tourism
B. Religious
tourism
C. Nature
tourism
D. Archaeological
tourism

Codes :

A B C
(1) i i il
2y i iv il
(3) iii
4) i il v

il

o

List —1I
(Tourist Center)

i.  Ranthambore
ii. Ganeshwar
11. Delwara

iv. Tal Chappar

iv
ii
v
ii
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TS &% B § 9T 7 Rt Sterary urft
ST g ?

(1) el gd o

(2) BTN UE Wit Ui % "
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%
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27.

29,

As per agricultural statistics report
2016-17, arrange the following crops in
descending order in terms of total
production in Rajasthan : '

A. Wheat B. Maize
C. Rice D. Bajra
Codes :

(1) A,B,CandD
(2) A,C,BandD
(3) A,D,BandC
(4) A,B,DandC

In which part of Rajasthan Steppe
climate is found ?

(1) East of Aravali

(2) Between Hadoti and Bhorat Plateaus

(3) Between Aravali
Arid Zone

In Southern Rajasthan

and Western
4)

According to the Government of India
Act, 1935, the name of upper chamber
of the proposed Federal Legislature was

(1) Chamber of Princes

(2) Council of State

(3) Federal Chamber of Provinces
(4) Council of States

Which of the following districts of
Rajasthan have shown above 30%

decadal growth rate of population
during 2001 — 2011 ?

A. Banswara B. Jodhpur
C. Jaisalmer D. Barmer
Codes :

(1) B,C&D 2) B&D
3) A&D (4) C&D

01 (G.K.)



30.

31,

32.

33

34.

01 (GK.)

IEEr, 1940 1, Tl fova 3g = feig
T wgTerr meft g 99 U YW SafRea
ma:

(1) fatar v

(2) SETEET EE

(3) HaTed ¢HTs

(4) vty Hrardz

fawTeRR, gifea afgam-aar o T,
oft. 3T, 3zt faffa gu

(1) afFamam= a

(2) s H

(3) e

(4) TG U /R G

gue & faifee § ey wenfia
SETUTAfAHI/H B ;
(1) R (2) el :
(3) e 4) P ;

|
|
|
!

AT § =R gAeesd & G99 o EsE33.

FYUl Y I TFATHT : e
(1) "fggm § =l e
STEGTaE! oh1 ool 4l 3T 8 |
(2) =T gAUEEeh dfag o qa
R HI 3R |

(3) Efaam-gsneE =Rie e &
erm-aa d A 2 |

(4) IT=De 356 IFdd I
EECIEL I e COCT o M=
fem-gm ® T @, wife
ITTIE 74(2) T TRV e 2 |

JFEAM I F A, IS &

forfrer % foru wgremn it gro fopm sl

<1 TTIAT <Y 71 oft ?

(1) BW & BN

2) fie=-TEs +y

(3) TaeTeh WU Iy

(4) fie @ =i

R I T SR, S—— | S -

s s st TF s VSR B WA BE SNEE MRS PSSR T

WO e e s

31.

34.

To protest against the Second World
War, who was chosen as the first
‘Individual Satyagrahi’ by Mahatma
Gandhi in October, 1940 ?

(1) Vinoba Bhave

(2) Jawaharlal Nehru

(3) Mahadev Desai

(4) Pattabhi Sitarammayya

In  post-partition,  Re-constituted
Constituent Assembly, Dr. B.R.
Ambedkar got elected from

(1) West Bengal

(2) Bombay

(3) East Punjab

(4) Central Provinces and Berar

To promulgate ordinances during recess
of parliament is President’s

(1) Right (2) Obligation
(3) Power (4) Function

Identify the incorrect statement
regarding Judicial Review in India.

(1) The term ‘Judicial Review’ is not
mentioned in the constitution.

(2) Judicial review is the part of basic
structure of the constitution.

(3) Constitutional amendments are
under the purview of judicial
review.

(4) Presidential proclamation under
Article-356 is not under the
purview of Judicial Review, as it is
protected by Article-74(2).

During Non-Co-operation Movement,
which Fund was established by
Mahatma Gandhi to finance the
movement ?

(1) Home Rule Fund

(2) Tilak-Gokhle Fund
(3) Tilak Swaraj Fund
(4) Hind Swaraj Fund
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(1) 52wd 55

(2) 92TE 927
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i 35.

36.

37.

38.

39,

Which National Political Party cannot
use its election symbol in Assam ?

(1) Trinmool Congress

(2) Nationalist Congress Party
(3) Communist Party of India
(4) Bahujan Samaj Party

According to Kanti Bajpai, which
school of strategic thinking in India is
ideologically conservative ?

(1) Nehruvian school
(2) Neo-liberal school
(3) Hyper-realist school

(4) Co-existential school

‘Prague Treaty’ signed between U.S.A.
and Russia is

(1) START-I
(2) INF Treaty
(3) New START
(4) ABM Treaty

Identify the Governor of Rajasthan, in
whose tenure President’s rule was
imposed as well as revoked too

(1) Sampurnanand
(2) Hukum Singh
(3) M. Chenna Reddy
(4) Raghukul Tilak

Which entries in the union list of the
seventh schedule of the constitution
have been omitted through 101
Constitutional Amendment ?

(1) 52and 55

(2) 92 and 92C

(3) 91 and 96

(4) 54 and 84

01 (G.K.)
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2.

Rajasthan  Public  Service
Commission present its annual report
of the work done by the Commission to
the

(1) Governor

(2) President

(3) Parliament

(4) State Legislative Assembly

Who can be appointed as Chairperson
of Rajasthan State Human Rights
Commission ?

(1) Former Chief Justice of a High

Court
(2) Former Justice of a High Court
(3)

“)

Former Justice of a Supreme Court

Retired District
Judge

and Session’s

The total number of Panchayat Samities
in Rajasthan is (as on 31° May, 2019)
(1) 263 2) 275

(3) 291 (4) 295

Who among the following is not
appointed by the Governor of Rajasthan ?

(1) Chief Minister of Rajasthan
(2) A Judge of Rajasthan High Court

(3) A Member of Rajasthan Public
Service Commission

(4) A Member of Rajasthan Human
Rights Commission

According to Article-167 of the
Constitution, furnishing of information
to a Governor is Chief Minister’s .

(1) Obligation
(2) Duty
(3) Privilege
(4) Right
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47.

AHaTeeR Gt (Ffta) ittt
2006 % IIEY TSI  HHEGTIHR
3T H fohdH e B € 2

(1) U A9, 4 9

(2) Ush AL, 3 9o

(3) Uk JAWH, 2 9

(4) T IJAFH, | 9

T % Ffafaa gembai o
S gt o eren sftert 3 e T ot
TSIITE & @2 7

(1) gitea Srh

2) Witz JEET

(3) AT JETiSAT

(4) ererror AT

freforRaa et ot fomm =t aur et g

I SR o Tt T 3 TSI &
TS TR G T R @ |

I TSI % AR-uiye § e &
fomm AfE it Fo gEn e
foam w1 < gew 1 T TEm %
U5 crsra o fees el anfi |

Il 9Rd % \lIEH & 3 (91 &)
NG o 90 T J g
afed gt < TeT SHE 4w &
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[3RINEE 2 |
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(1
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(4)
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47.

How many members having Rajasthan
Human Rights Commission according
with the provisions of the Protection of
Human Rights (Amendment) Act, 2006 ?

(1) One chairperson and 4 members
(2) One chairperson and 3 members
(3) One chairperson and 2 members
(4) One chairperson and 1 member

Who among the following Chief
Ministers of Rajasthan has never been a
Governor of any state in his entire
political life ?

(1) Haridev Joshi

(2) Bhairon Singh Shekhawat

(3) Jagannath Pahadia

(4) Shivcharan Mathur

Consider the following statements and
choose the correct answer by using the
codes given below the statements :

[.  Ministers of Rajasthan have hold
office during the pleasure of the
Governor of Rajasthan.

II. The total number of ministers,
excluding the Chief Minister, in
the Council of Ministers of
Rajasthan shall not exceed fifteen
percent, of the total number of
members of the legislative
assembly of Rajasthan.

ITI. After the 91% Amendment of
Constitution of India, the number
of ministers, including the Chief
Minister in Rajasthan shall not be
less than twelve.

Codes :

(1) I, II & III are correct.

(2) I and III are correct.

(3) II and III are correct.

(4) Iand II are correct.

01 (G.K.)
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Trfoifea & @ form fafew wommsht 3
qRd smeH rfafEm 1919 & yreaET &
ITTEY HIgH HHIRM 1 713 Ferarm ?
(1) Tt dgeHes

() & S

(3) VI FTesdH

(4) foge affa

AYfas 3R favafaaem fem =
HeEd gt § airfera fhar m

(1) 247 gy

(2) 20af gsnya

(3) 424 GxiEA

(4) 4497 geneA

Frafafaa § @ =99 91w sy o8 78
27

(1) Tefe 2 =i vae fvet gelieH
1961 5. # Sieis # g3 |

(2) 25 ug 7 ey i % uEe
grie 4 9T foram |

(3) U e gu, Afes TEEHAl @i
Wi TCw g1 Hehare |

4) ROy Fdey aw<de 3R
3qfeaT 5 fagems T@istar e |

T qarrdt U arfafem 1994 %
TR Fre=ifeha § @ = us foer aftye
1 HETH TE 2 ?

(1) SArHaYT T

(2) TSTEHT A

(3) T faumay o 9

(4) T [T T TT=
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51.

Which of the following British Prime
Minister constituted Simon
Commission as per the provisions of
Government of India Act, 1919 ?

(1) Ramsay MacDonald
(2) Neville Chamberlain
(3) Stanley Baldwin
(4) Winston Churchill

By which constitutional amendment,
technical, medical and university
education was included in the
concurrent list ?

(1) 24" Amendment
(2) 20™ Amendment
(3) 42™ Amendment
(4) 44" Amendment

Which one of the following statement is
not correct ?

(1) The first Summit of Non-Align
countries was held at Belgrade in
1961 A.D.
25 Countries have participated in
the first summit of non-align
countries.

2

A Non-Align country can also be a
member of military alliance.

Non-Alignment movement do not
believe in racism and colonialism.

Which one of following is not a
component of Zila Parishad as per the
Rajasthan Panchayati Raj Act, 1994 ?
(1) Member of Lok Sabha

(2) Member of Rajya Sabha

(3) Member of State

Assembly

Legislative

Member of Gram Sabha
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gefi-1 1 frer gehi-11 & i e

e o = fou e o 8 Td SWHTIE

HifT -
g -1
i. =S ST &
ii. e iy b, S AwW
iii. YR rsae ¢, 3T
gt

gt - 11

iv. 31991 g d. afreTg
T
i i i v
(1) b d c a
2) d c a b
3) c d b a
4 c d a b

‘T St AT B TSR ThR IR
ST 1 § 8 AT 9 F 12 H TG
STTeTehI3T ! Tt areft Ui 2 -

(1) 2,100Td 7 2,500

(2) ¥1,100TE T 1,500

(3) 1,000 1,500

(4) T1,200Wa ¥ 1,800

TR % B Sisht e @
SHEER fovafame, &1 $odia 6l
e T e @ 2

(1) 3. he/

(2) 3T, g

(3) 30" YT

(4) 3.4t 3wt

Terer Temmes =t sfer ieft Twepm 3 siverrew
I Teh T UY-TY % &Y H ARA1 ST ?
(1) 6 fem=r, 1971

(2) 16 fegmsy, 1971

(3) 19, 1972

(4) 14,1972

a. TSIEAM / TeTd

, | | ?&3& | e
2 e
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52.

S,

54.

55.

Match List — I with List — I and select
the correct answer by using the codes
given below the lists :

List—1I List — 11
i. Biju Janta a. Rajasthan/
Dal Gujarat
ii. Makkal b. Uttar Pradesh
Needhi Maiam
11i. Bhartiya c. Odisha
Tribal Party
iv. Apna Dal d. Tamil Nadu
Codes :
1 i i 1v
(1) b d g a
2) d c a b
3) c d b a
4 c d a b

The amount of grant given to girl
student of classes 1 to 8 and 9 to 12
under the “Aapki Beti Yojna’ of the
government of Rajasthan is

(1) %2,100 and ¥ 2,500
(2) % 1,100 and ¥ 1,500
(3) % 1,000 and ¥ 1,500
(4) % 1,200 and ¥ 1,800

Who has been appointed as Vice
Chancellor of Haridev Joshi University
of Journalism and Mass
Communication in Rajasthan ?

(1) R.K. Kothari
(2) Arun K. Pujari
(3) Om Thanvi
(4) J.P. Sharma

On which date, Indira Gandhi
government did give the recognition to
Bangladesh as a new nation state ?

(1) 6" December, 1971
(2) 16™ December, 1971
(3) 1% July, 1972
(4) 1% June, 1972
01 (G.K.)
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TSR GO 0T T HAGH AR

A9 2019 % 0T BT 9T AT |
(1) R (2) =g

(3) ur=d (4) B34
Hl.ddemE. gu s § mnfa
ufgett Zad-20 Seiw foehe gite 2019
Fi fasar dm 2 -

(1) Setsoiod

(2) Ienfadt

(3) TSI =@

(4) guA@™E

UL 3= AT & =yt {52
B & H daTH 3= <R 1 e

=mefter frga foFa ], 98 @
(1) =t T, Hef

(2) =TTl R.TH. HEH
(3) —AETald 3TR.TY. 9ea
(4) =marferafy €hea. v

2019 = SATHEHT AT § TSR | el
Hagrar AagH Jfawrd &l

(1) 66.54%

() 66.12%

(3) 65.55%

4) 66.07%

ey & faifa gme W i
I@TEd Bl B HT o HATer T
T 7

(1) SN @ fFam e

(2) TEEH $H Ud 3T

(3) & wifea

(4) STy UE I
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The voting in the second phase in
Rajasthan was a part of the
phase of the Lok Sabha Election-2019.

{y 3" @) 4
(3) Sth (4) 6th

The team, who won the Women
Twenty-20 Challenge Cricket
Tournament 2019 title, organised by
BCClI in Jaipur, is

)]
(2)
&)
(4)

Trailblazers
Velocity
Rajasthan Blues
Supernovas

The Justice of Rajasthan High Court,
who has recently been appointed as the
Chief Justice of the Telangana High
Court, is

(1) Justice A.A. Qureshi

(2) Justice R.S. Chouhan

(3) Justice R.S. Patel

(4) Justice D.N. Patel

The total voter turnout percentage in
Rajasthan in Lok Sabha Elections-2019
was

(1) 66.54%

(2) 66.12%

(3) 65.55%

(4) 66.07%

What Portfolio in the central ministry
has been allocated to the newly elected
M.P. of Rajasthan Gajendra Singh
Shekhawat ?

(1) Agricultural and Farmers Welfare
(2) Parliamentary affairs and other
(3) Jal Shakti

(4) Commerce and Industry
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64.

65.

Shyam Sundar Acharya, who passed
away recently, was associated with

(2) Social Service
(4) Literature

(1) Journalism
(3) Music
The person who has been recently

appointed as the Chief Justice of the
Rajasthan High Court is

(1) Justice Mohammad Rafiq

(2) Justice Shripathi Ravindra Bhatt
(3) Justice Devendra Bhatt

(4) Justice Pradeep Nandrajog

Which of the following is not the main

objective ~ of  “Climate  Smart
Agriculture (CSA)” ?
(1) Sustainably increasing agricultural

productivity and incomes

(2) Adapting and building resilience
to climate change
(3) Reducing green house gas

emissions wherever possible

4)

To provide relief to the farmers
affected by natural calamites

What is the objective of Credit Linked
Capital Subsidy Scheme (CLCSS) ?
(1) Facilitating technology
upgradation of the MSME sector
Provide funding to the non-
corporate small business sector

2)

(3) Collateral free credit to new and
existing ~micro and  small
enterprises

(4) All of these

Which city of Rajasthan will host the
‘International Army Games’ in August
2019 ?

(1) Jaisalmer
(3) Jodhpur

(2) Bikaner
(4) Barmer
01 (G.K))
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S Fifersh wrfed (H.09.370.) &
FER AN 2017-18 H Wa 61 FRR Hima
S gfg e @ ?

(1) 65 2) 72
(3) 75 4 7.7
A # Treor e g e H e 7

S FioHT TSR § Gefid 8 ?
(1) wrvor ferepra <Y wmfea Fismn
(2) T FTHOT ISR ST

(3) SETE U™ Tyfg Frem
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(2) it = w : 5= & 9 ey Eﬁ

9 W, g1 & g9g | Arar-far %
1Y T GISATHS & 9T |

() ToF foum A srEvEEar T
=1 % 919 |

(4) Tok ssmafes @ |

WItT | T 37 1 SHHH Td 60
=1 4 & fopet wiafera ferm smar 2 2
A. Frme

B. WM GaT SEgH

C. BEI=IOT YT

= 2 T et 1 T i BT HE 3T
GIEDE

Codes :

(1) A3RB (2) A,B3WRC
(3) B3R C (4) AIMC

01 (G.K.)
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69.

According to the Central Statistics Office
(CSO), what was the GDP growth of
India at constant prices in year 2017-18 ?

(1) 6.5 2) 72
(3) 75 4) 7.7
Which of the following is self

employment programme to eradicate
rural poverty in India ?

(1) Integrated Rural Development
Programme

(2) National Rural Employment
Programme

(3) Jawahar Gram Samridhi Yojana

(4) Sampoorna Grameen Rozgar
Yojana

An educational psychologist works

(1) only within the classroom,

focusing on children’s behaviour.

(2) at multiple levels, with individual
children, groups of children,
parents and at the organizational

level.

3)

exclusively  with  individual
children with special education
need.

only at administration level

“)

Which of the following is included
while estimating National Income in
India ?

A. Corporate Tax

B. Social Security Contribution

C. Transfer Payments

Select the correct answer using the
codes given below :

Codes :
(1) Aand B (2) A,BandC
(3) Band C (4) Aand C
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Which of the following Psychologist
viewed that cognitive development of
children as a socially mediated process
in which children depend on assistance
from adults and more expert peers ?

(1) Bronfen Brenner
(2) Freud

(3) Vygotsky

(4) Jean Piaget

Which of the following is not a
Principle of Development ?

(1) Principle of Continuity

(2) Principle of Individual difference
(3) Principle of Uniformity of Pattern

(4) Principle of Proceeding from
specific to general responses

Which of the following is the
approximate age range related to
Erickson’s psychological stage termed
as “Initiative versus Guilt” ?

(1) 3-6 years (2) 6-11 years
(3) 1-3 years (4) 13-18 years
Which of the following behaviour

pattern of unsocial behaviour pattern in
social situations during early childhood ?

(1) Generosity (2) Egocentrism

(3) Co-operation (4) Sympathy

Which of the following is not the step
of social learning theory of Albert
Bandura ?

(1) Attending to and perceiving the

~ behaviour

(2) Remembering the behaviour

(3) Converting the memory into action

(4) Generalization of the Imitated
Behaviour

01 (G.K.)
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FTEHA ST o S -TTR R ferehE Tfemm <
FgEn gg fifea § @ fem o d
SITTHe feman ST EhdaT & 7

(1) HfdmTa o

(2) &

(3) Hstaz

(4) sHIAI

qd GferaTeaeh ST T ST GISd 84
Tgs T T a1 & 37 e & fh ggs A
I8 gl ¢ fear | a8 Frifea & foem
fasivar sl euiar g ?

(1) 3TEHehE

(2) TR

(3) g T

(4) A-BEM |

g ded § (RPWD Act 2016
IER) afe =t &1 gfe-am 40 faft ©
9 T 10 ferft & wior a6 difta g1 dl 98
safe B

(1) Yuiaan gfE e safad

(2) 379 5fE g Ao

(3) == gfE Joa Al

(4) =afe o goiiar s |

S fo6 wrare 3 gt fo w31y famw %
S “geterer ufer foeefaa a1t 2 | sowa
ufy feenfera g < a1y Fr=ifeea & @
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(1) Hae M e

(2) 9 EfshTcHeh 3Tae

(3) T WishATcH® STAT

(4) 3=l afshaTedess STaed

01 (G.K.)
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According to Bronfen brenner’s Bio-
Ecological model, ‘War’ can be
included in which of the following
system ?

(1) Individual system

(2) Micro system

(3) Meso system

(4) Chrono system

A child at preoperational stage, slips on
a road and says that the road has hitted
him. This indicates which of the
following characteristics ?

(1) Egocentrism
(2) Animism
(3) Object Permanence

(4) A-B Search

In Indian context, (According to
RPWD Act, 2016) if the field of vision
of a person is less than 40 degree but up .
to 10 degree, then the person is
considered as

(1) completely blind person

(2) having low vision

(3) having normal sight

(4) having colour-blindness

As Freud observed ‘Electra Complex’
develops at a particular age of child.
The age of developing an electra
complex falls under which of the
following Piagetian stage ?

(1) Sensory Motor stage

(2) Pre-operational stage

(3) Concrete operational stage

(4) Formal operational stage
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In Indian context (According to RPWD

Act, 2016) a person can be considered

as ‘Deaf” if

(1) He has 70 dB or more hearing loss
in speech frequency on both ears.

(2) He has 60 dB to 70 dB hearing loss
in both ears.

(3) He has 60 dB to 50 dB hearing loss
in both ears.

(4) He has 50 dB or less hearing loss

in both ears.

Which of the following is also known
as Steinert’s Disease ?

(1) Duchene Muscular Dystrophy

(2) Becker’s Muscular Dystrophy

(3) Myotonic Muscular Dystrophy

(4) Limb Griddle Muscular Dystrophy

Which of the following is incorrect
about Autistic Spectrum Disorder ?

(1) It affects the child’s ability to
communicate.
Frequently  associated
repetitive behaviour.

It appears after first 3 years of life.
It affects the ability to develop
inter-individual relationship.

) with
3)
(4)

The Spastic Hemiplegia affects

(1) the leg, arm and hand of one side
of the body.

(2) either upper half or lower half of
the body.

(3)

(C))

both hands
both legs

Which of the following type of

Dyslexia affects a person’s ability to

distinguish individual letter sounds

within words ?

(1) Dysphonetic Dyslexia

(2) Phonetic Dyslexia

(3) Visual Dyslexia

(4) Non-Auditory Dyslexia

01 (G.K.)
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S st ST Thed fietifera & 9 feperep
TR o Tore g fpen Sirar @ 7

(1) fewfamar

) feanfears

aefiE ded § (RPWD Act 2016
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The Zoner-Blaser staff scale is used for
assessment of which of the following ?
(1) Dyslexia

(2) Dysgraphia

(3) Dyscalculia

(4) Dysphasia

In Indian context (RPWD Act, 2016)
which of the following is not true about
Intellectual Disability ?

(1) There is significant limitations in
intellectual functioning.

(2) There is significant limitations in
"Adaptive Behaviour.

(3) It includes specific learning
disabilities.

(4) It does not include Autistic

Spectrum Disorder.

Which of the following is not correct
about, a cognitive behavioural method

known as KWL technique ?

(1) It was developed by Ogle in 1988.
(2) Ttis effective for Dyslexic students.
(3) K stands for What I Know.

(4) L stands for What I Learnt.

A positive or negative evaluative
reaction towards a stimulus, such as a
person, action, object or concept is
known as

(1) Attitude
(3) Interest

(2) Aptitude
(4) Appreciation

The lack of Dystrophin in human body
causes

(1) Dyslexia

(2) Spina-Bifida

(3) Muscular Dystrophy
(4) Polio
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Which Pratihara inscription denotes the
foundation of a Jain temple ?

(1) Mandor inscription

(2) Nadol inscription

(3) Nagada inscription

(4) Ghatiyala inscription

In Gwalior Inscription, who is referred
as ‘Destroyer of Mleccha’ ?

(1) Vigrahraj-IV  (2) Vimal Shah

(3) Nag Bhatt (4) Mihir Bhoj

Who was the ruler of Ranthambore at
the time of the expedition of Sultan
Jalal-ud-din Khalji ?

(1) Govind Raj
(3) Hammir

(2) Veer Narayan
(4) Ratipal

According to Bijoliya Inscription, who
constructed Sambhar lake ?

(1) Govind Raj (2) Vasudev

(3) Vigrahraj (4) Durlabh Raj

Who was not fighting in favour of Rana
Sanga against Babur in the Battle of
Khanwa ?

(1) Surya Mal
(3) Prithvi Raj

(2) Raimal
(4) Kalyan Mal

Which archaeological site is also

known as Dhoolkot ?

(1) Namana (2) Bagor

(3) Ahar (4) Nagda

01 (G.K.)
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Against whom Mansingh did his first
military expedition in the patronage of
Akbar ?

(1) Surjan Hada
(3) Kedar Rai

(2) Maharana Pratap
(4) Ramchandra Dev

In which place ‘Jaipur Rajya Meena
Sudhar Samiti’ was established ?

(1) Karauli (2) Dausa
(3) Neemkathana (4) Khetari

‘Dabra Kand® is associated to the
peasants of which area ?

(1) Alwar (2) Bharatpur
(3) Sikar (4) Jodhpur

Who was the President of first session
of Mewar Prajamandal ?

(1) Mannikya Lal Verma

= il ! 2) Bal Singh Meht
(2) SEEaRig vl i (3) awal;t mng ‘;a
3) = = ! (3) Rames Cll'lan ad'yas
(4) TeTee gaTe 1 (4) Mohan Lal Sukhadia
H
%Hﬂﬁﬁﬁ‘wﬁﬂ’%ﬁﬂWﬁ !I 99, Which committee recommended to
Reerer Y STEET ] 2 : merge ‘Matsya Sangh’ with Greater
: i Rajasthan ?
(1) were T el ! (1) Balwant Rai Mehta
(2) o 3Tt g (2) Fazal Ali
(3) .. mefite ; (3) V.N. Gadgil
(4) Y TE : (4) Shankar Rao
;
T AT N TS Il W SHaT H t 100. Why Chandra Sen became unpopular in
: i General public of his state ?
AT 1 8 T ? _ p
(1) Raise tax on people
(1) ST U setq ! (2) Extortion of money from Mahajan class
2) g a1 g %r—raf—?r?g (3) Un-necessary interference in
e {3 e : social customs
) : S w l (4) Excessive expenditure on his
(4) = & ferertiar @ 3teafs = | luxury life
23 u|
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